
229An ISO 9001 Registered Company   © 2022 Rice Lake Weighing Systems   1/22   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

S
ca

le
 M

at
e

Part Number/Price
REF # PART # DESCRIPTION QTY SYNONYM PRICE
1 Consult Pan head, slotted 10-32 x 1/2 14 1903-079 Consult
2 Consult Lockwasher, split, #10, SST 14 1907-027 Consult
3 Consult 1/4 inch flat washer 4 1909-001 Consult
4 Consult Nut, hex 10-32 6 1911-050 Consult
5 Consult Nut, acorn, 1/4-20, SST 2 1911-063 Consult
6 Consult Pin - cotter 3/32 diameter, 1 1/4 lg 4 1921-009 Consult
7 Consult Pin, clevis 5/16 diameter x 1 1/4 lg 4 1921-010 Consult
8 Consult Brackets, pivot cylinder 2 5805-090 Consult
9 Consult Axle, pivot - infeed conveyor 1 6701-042 Consult
10 Consult Frame weld assembly, infeed 1 6835-105 Consult
11 Consult Guide, product 1 6835-107 Consult
12 Consult Support tube weldment 2 6835-108 Consult
13 Consult Upper support rod weldment 2 6835-109 Consult
14 Consult Crossmember, dispenser 2 6835-147 Consult
15 200499 Conveyor roller assy, spring loaded 16 6835-369 $37.00
16 Consult Bracket, arm stop 2 6835-378 Consult

HEAT SEAL ROLLER PACK OFF TABLE

2-foot Conveyor



230An ISO 9001 Registered Company   © 2022 Rice Lake Weighing Systems   1/22   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

Heat Seal Roller Pack Off Table 
2-foot Conveyor

BRACKET, ARM STOP6835-378216
Spring Loaded Roller6835-3691615

Crossmember, Dispenser6835-147214
Upper Support Rod Weldment6835-109213

Support Tube Weldment6835-108212
Guide, Product6835-107111

Frame Weld Assembly, Infeed6835-105110
AXLE, PIVOT - INFEED CONVEYOR6701-04219

BRACKET, PIVOT CYLINDER, UPPER5805-09028
Pin, Clevis 5/16 Dia. X 1 1/4 Lg.1921-01047
Pin - Cotter 3/32 Dia., 1 1/4 Lg.1921-00946

NUT, ACORN,  1/4-20, SS1911-06325
Nut, Hex 10-321911-05064

1/4" FLAT WASHER1909-00143
LOCKWASHER, SPLIT, #10, SS1907-027142
Pan Head, Slotted 10-32 X 1/21903-079141

Material List
DESCRIPTIONPART NO.QTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

DWG BY:

DATE:

CHK'D BY:

DATE:

USED ON:

SHEET 
SIZE:

PART FILE NAME:

SHEET:

DO NOT SCALE PRINT

DESCRIPTION:

DRAWING NO. REVISION:

HEAT SEAL/AMPAK
CLEVELAND, OHIO 44125

ALL DIMENSIONS IN
INCHES EXCEPT
WHERE NOTED

STANDARD
TOLERANCES EXCEPT

WHERE NOTED

2 PLC. DECIMAL:

3 PLC. DECIMAL:

FRACTION:

.010

.005

ANGLE:

1/32

1

(ALL PLUS/MINUS)

OF:

I:\CAD\HEATSEAL\PRODUCTS\CONVEYOR\6701-036.iam

6701-036 1

Infeed Conveyor Assembly
Ishida Roller Table

D

BRUCE CUE
11/29/2004

 
 

1 2 

REVISION HISTORY
REV ECN NO. DATE BY DESCRIPTION

1 2365 6/10/2009 JPR DELETED 1911-011, ADDED 6701-042,
5805-090 WAS 6835-368

11

1015

14

1 2

5 3

8

13
12

76

9

163

(15 9/16)

(24)

1 2 4

1

1

1

SEE SHEET 2 FOR TOPSIDE 3D VIEW




